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Question No.1 Marks: 1.00
Bookmark
     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.



That which is without opposition


(A) Demagogue

(B) Amnesty

(C) Unanimous
(Correct Answer)


(D) Anonymous


Question No.2 Marks: 1.00
Bookmark
     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)



(A) Indian chess legend Viswanathan Anand / (B) would becomes the deputy president /
(c) of the world chess federation. / (D) No Error


(A) B
(Correct Answer) (Chosen option) 

(B) D


(C) A

(D) C


Question No.3 Marks: 1.00
Bookmark
     

Choose the word which best expresses the similar meaning of the given word "
EMBRACE ".


(A) Distrust

(B) Give
(Chosen option) 
(C) Lock
(Correct Answer)


(D) Free


Question No.4 Marks: 1.00
Bookmark
     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)
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(A) The Railways have recently signed a memorandum of understanding / (B) with the
Association for Voluntary Action, also known as Bachpan Bachao Andolan, / (C) to work
towards ending the human trafficking through railways. / (D) No Error
(A) B

(B) C
(Chosen option) 


(C) A

(D) D
(Correct Answer)




Question No.5 Marks: 1.00
Bookmark
     

Fill in the blanks with suitable Article from the given alternatives.



All the officials are ready to take _____________ pledge given by the superior.

(A) a 

(B) the
(Correct Answer) (Chosen option) 

(C) an


(D) No article


Question No.6 Marks: 1.00
Bookmark
     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.



A word composed of the first letters of the words in a phrase.


(A) Synonym

(B) Phantonym

(C) Acronym
(Correct Answer) (Chosen option) 


(D) Antonym


Question No.7 Marks: 1.00
Bookmark
     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.



Patriotism is the feel of love and devotion for one’s country and a sense of alliance and
brotherhood with its citizens.


(A) was the feeling of love and devotion for one’s (Chosen option) 

(B) is feeling of love and devotion for one


(C) is the feeling of love and devotion for one’s (Correct Answer)

(D) The given sentence is correct


Question No.8 Marks: 1.00
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Fill in the blank with suitable word from the given options.



Our economy is on the ___________, causing a market selloff.

(A) visit
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(B) omit

(C) decline
(Correct Answer)


(D) ultimate
(Chosen option) 



Question No.9 Marks: 1.00
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Fill in the blanks with suitable Preposition from the given alternatives.



I have been travelling ___________ Monday.

(A) for


(B) to

(C) at

(D) since
(Correct Answer) (Chosen option) 




Question No.10 Marks: 1.00
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Fill in the blanks with suitable Preposition from the given alternatives.



She is reckless _____________ his duties.

(A) about
(Correct Answer) (Chosen option) 


(B) since

(C) from

(D) against


Question No.11 Marks: 1.00
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Choose the word which expresses nearly the opposite meaning of the given word "
ENCROACH ".


(A) Interfere

(B) Intrude

(C) Ignore
(Correct Answer) (Chosen option) 


(D) Crash


Question No.12 Marks: 1.00
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Fill in the blank with suitable tense.



I used to play volleyball in college but now I ____________ tennis.

(A) has preferred


(B) have prefer

(C) prefer
(Correct Answer) (Chosen option) 
(D) preferring


Question No.13 Marks: 1.00
Bookmark
     

Fill in the blanks with suitable Article from the given alternatives.



Keerthi is ready to offer __________ job for all the candidates.
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(A) the
(Chosen option) 
(B) a (Correct Answer)


(C) an

(D) No article


Question No.14 Marks: 1.00
Bookmark
     

Fill in the blank with suitable word from the given options.



A crack in the water tank is causing the water level to ____________.

(A) decline
(Correct Answer) (Chosen option) 


(B) unit

(C) omit

(D) throw


Question No.15 Marks: 1.00
Bookmark
     

Fill in the blank with suitable tense.



She __________ ill since last Tuesday.

(A) has been
(Correct Answer) (Chosen option) 


(B) has being

(C) had being

(D) have been


Question No.16 Marks: 1.00
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Find the suitable antonym for the given word " CIRCUMLOCUTION ".

(A) Tautology


(B) Euphemism

(C) Directness
(Correct Answer)


(D) Wordiness


Question No.17 Marks: 1.00
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Choose the word which best expresses the similar meaning of the given word "
EQUIVOCATION ".


(A) uprightness

(B) Certainty

(C) Honesty

(D) Ambiguity
(Correct Answer)




Question No.18 Marks: 1.00
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Find the word which is correctly spelt from the given options.

(A) Aimleslly


(B) Exagerated
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(C) Languish
(Correct Answer) (Chosen option) 
(D) Miraculuous 

Question No.19 Marks: 1.00
Bookmark
     

Find the word which is correctly spelt from the given options.

(A) Benevolance


(B) Chronological
(Correct Answer) (Chosen option) 

(C) Inheritence


(D) Aliteration


Question No.20 Marks: 1.00
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Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.



The data show which the digital modes of payment recorded sharp fall in value
transacted during the month.


(A) showing that the digital modes of (Chosen option) 

(B) shows that the digital modes of (Correct Answer)


(C) shows which the digital modes of 
(D) The given sentence is correct


Question No.21 Marks: 1.00
Bookmark
     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.



The government has decided to allow wedding ceremonies in religious places after a
request by leaders of different organisations.


(A) have decided to allow wedding ceremonies in

(B) has decided for allow wedding ceremonies in

(C) have decided for allow wedding ceremonies in

(D) The given sentence is correct
(Correct Answer) (Chosen option) 




Question No.22 Marks: 1.00
Bookmark
     

Find the word which is correctly spelt from the given options.

(A) Exemplary
(Correct Answer)


(B) Asimilate

(C) Feesible

(D) Ethreal
(Chosen option) 




Question No.23 Marks: 1.00
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Choose the correct article to complete the following sentence.
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What does she usually have for ______ dinner?
(A) No article
(Correct Answer) (Chosen option) 


(B) an

(C) the

(D) a


Question No.24 Marks: 1.00
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Choose the best option from the given alternatives which can be substituted for the
given word/sentence.



A group of soldiers living in a town/fort and defending it.


(A) Exodus

(B) Garrison
(Correct Answer) (Chosen option) 


(C) Libel

(D) Highbrow


Question No.25 Marks: 1.00
Bookmark
     

Fill in the blanks with suitable Preposition from the given alternatives.



Come and sit _________ me.

(A) by
(Correct Answer) (Chosen option) 


(B) at

(C) in

(D) amongst


Odia Language - Odia Language

Question No.1 Marks: 1.00
Bookmark
     

ପ୍ରଦତ୍ତ ଶବ୍ଦ ମଧ୍ୟରୁ  କେଉଁ ଶବ୍ଦଟି ଠିକ - ଚିହ୍ନାଇ ଦିଅ ?



(A) ଶୁଶ୍ରୁଷା


(B) ଶୁଶ୍ରୂଷା
(Correct Answer) (Chosen option) 



(C) ଶୁଶ୍ରୂସା


(D) ସୁଶ୍ରୂଷା


Question No.2 Marks: 1.00
Bookmark
     

ମା’ ପୁଅକୁ  ଭାତ ଖୁଆଇଲେ । ରେଖାଙ୍କିତ ପଦଟି କି ପ୍ରକାର କର୍ତ୍ତା?



(A) ପ୍ରଯୋଜ୍ୟ
(Correct Answer)



(B) ଊହ୍ୟ


(C) ପ୍ରୟୋଜକ
(Chosen option) 



(D) ମୁଖ୍ୟ
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Question No.3 Marks: 1.00
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‘ମହୀୟାନ’ର ସ୍ତ୍ରୀଲିଙ୍ଗ ବାଚକ ଶବ୍ଦଟି ବାଛ ।



(A) ମହୀୟସୀ
(Correct Answer) (Chosen option) 



(B) ମହୀୟାନୀ


(C) ମହୀୟାୟିନୀ


(D) ମହୀୟସିନୀ


Question No.4 Marks: 1.00
Bookmark
     

ରାମ ମିଥ୍ୟାକୁ  ଘୃଣା କରେ ।- ବାକ୍ୟରେ ଥିବା 'ମିଥ୍ୟାକୁ ' କେଉଁ ବିଭକ୍ତି  ?



(A) ଚତୁର୍ଥୀ
(Chosen option) 



(B) ପଞ୍ଚମୀ


(C) ଦ୍ୱି ତୀୟା
(Correct Answer)



(D) ତୃ ତୀୟା


Question No.5 Marks: 1.00
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ସମସ୍ତେ ସୁଖରେ ରହନ୍ତୁ  । ରେଖାଙ୍କିତ ପଦର ବିଭକ୍ତି  ନିର୍ଣ୍ଣୟ କର ।



(A) ଷଷ୍ଠୀ


(B) ସପ୍ତମୀ
(Chosen option) 



(C) ଦ୍ୱି ତୀୟା


(D) ତୃ ତୀୟା
(Correct Answer)



Question No.6 Marks: 1.00
Bookmark
     

ଏଣୁ ତେଣୁ ଗପି ସମୟ ନଷ୍ଟ କରିବା ଉଚିତ ନୁ ହେଁ । ରେଖାଙ୍କିତ ପଦଟି କି ପ୍ରକାର ସର୍ବନାମ ?



(A) ନିର୍ଣ୍ଣାୟକ ସର୍ବନାମ
(Chosen option) 



(B) ବ୍ୟକ୍ତିବାଚକ ସର୍ବନାମ


(C) ନିର୍ଦ୍ଦେଶାତ୍ମକ ସର୍ବନାମ
(Correct Answer)



(D) ପ୍ରଶ୍ନବାଚକ ସର୍ବନାମ


Question No.7 Marks: 1.00
Bookmark
     

'ସ୍ୱାଧୀନ' - ଶବ୍ଦର ବିପରିତ ଶବ୍ଦ କ'ଣ ?



(A) ପରାଧୀନ
(Correct Answer) (Chosen option) 



(B) ଅଧିନ


(C) ଅସ୍ୱାଧୀନ


(D) ଅନ୍ୟଧିନ


Question No.8 Marks: 1.00
Bookmark
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'ନିର୍ଲଜ୍ଜ '- କେଉଁ ସମାସ ?	
(A) ତତ୍ ପୁରୁ ଷ


(B) ଦ୍ୱି ଗୁ


(C) ବହୁବ୍ରୀ ହି
(Correct Answer)



(D) ଅବ୍ୟୟୀଭାବ


Question No.9 Marks: 1.00
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ଠିକ ଶବ୍ଦଟି ଚିହ୍ନାଇ ଦିଅ ।



(A) ନିରୁ ଦ୍ ବିଗ୍ନ


(B) ନିଃରୁ ଦ୍ ବେଗ


(C) ନିରୁ ଦ୍ ବିଘ୍ନ
(Chosen option) 



(D) ନିରୁ ଦ୍ ବେଗ
(Correct Answer)



Question No.10 Marks: 1.00
Bookmark
     

ନିମ୍ନୋକ୍ତ  ମଧ୍ୟରୁ  କେଉଁଟି ଦେଶଜ ଶବ୍ଦ?



(A) ସାବୁ ନ୍‌


(B) ବୋତାମ


(C) ବଟୁଆ
(Correct Answer)



(D) କଅଁଳ
(Chosen option) 



Question No.11 Marks: 1.00
Bookmark
     

'ପ୍ରସାରଣ' - ଶବ୍ଦର ବିପରୀତ ଶବ୍ଦ କ'ଣ ?



(A) ସଙ୍କୋଚନ (Correct Answer) (Chosen option) 



(B) ପ୍ରକ୍ଷିପ୍ତ 

(C) ଅପ୍ରସାରଣ 

(D) ଅସାରଣ 

Question No.12 Marks: 1.00
Bookmark
     

‘ଭାଉଜ’ ଶବ୍ଦର ମୂଳ ସଂସ୍କୃ ତ ରୂ ପଟି କଣ?



(A) ଭ୍ରାତୃ ଜା


(B) ଭ୍ରା ତୃ ଜାୟା
(Correct Answer) (Chosen option) 



(C) ଭୃା ତୃ ଜା


(D) ଭାତୃ ଜାୟା


Question No.13 Marks: 1.00
Bookmark
     

ଶୁଦ୍ଧ ଶବ୍ଦଟିକୁ  ଚିହ୍ନାଅ ।



(A)
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ଜାଜୁଲ୍ୟମାନ


(B) ଜାଜ୍ୱଲମାନ


(C) ଜାଜ୍ଜ୍ୱଲ୍ୟମାନ
(Chosen option) 

(D) ଜାଜ୍ୱଲ୍ୟମାନ
(Correct Answer)



Question No.14 Marks: 1.00
Bookmark
     

‘ନମନ’ ଶବ୍ଦରେ କେଉଁ ବର୍ଣ୍ଣଟି ଅନୁନାସିକ ନୁ ହେଁ?



(A) ଶେଷ ବର୍ଣ୍ଣଟି


(B) ମଧ୍ୟମ ବର୍ଣ୍ଣଟି


(C) ପ୍ରଥମ ବର୍ଣ୍ଣଟି
(Correct Answer) (Chosen option) 



(D) କେଉଁଟି ନୁ ହେଁ


Question No.15 Marks: 1.00
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କୁଞ୍ଜବିହାରୀ ତ୍ରିପାଠୀ ଭାଷାବିଜ୍ଞାନରେ ପଣ୍ଡିତ ଥିଲେ । ରେଖାଙ୍କିତ ପଦଟିର କାରକ ନିର୍ଣ୍ଣୟ କର ।



(A) ବିଷୟାଧିକରଣ
(Correct Answer) (Chosen option) 



(B) ସ୍ଥାନାଧିକରଣ


(C) ଭାଷାଧିକରଣ


(D) କାଳାଧିକରଣ


Question No.16 Marks: 1.00
Bookmark
     

'କରଛଡ଼ା'- ରୂ ଢ଼ିଟିର କେଉଁ ଅର୍ଥ ଠିକ ?	
(A) ହାତରୁ  ଜିନିଷ ଛଡ଼ାଇବା


(B) କରଛାଡ଼ ହେବା


(C) ଦାୟିତ୍ୱ  ନନେବା
(Correct Answer) (Chosen option) 



(D) ହାତ ଛାଡ଼ିବା


Question No.17 Marks: 1.00
Bookmark
     

'ଦୟାଳୁ ' - ଶବ୍ଦର ବିପରିତ ଶବ୍ଦ କ'ଣ ?



(A) ନିଗିଧା


(B) କୃପଣ


(C) ନିର୍ଦୟ
(Correct Answer) (Chosen option) 



(D) ନିଷ୍ଠୁର


Question No.18 Marks: 1.00
Bookmark
     

'କୃପଣ' - ଶବ୍ଦର ବିପରୀତ ଶବ୍ଦ କ'ଣ ?



(A) କାର୍ପଣ୍ୟ 
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(B) ଦାତା 

(C) ବଦାନ୍ୟ (Correct Answer) (Chosen option) 



(D) ଅକୃପଣ 

Question No.19 Marks: 1.00
Bookmark
     

ମୁଁ ଚାଲିଚାଲି ଥକିପଡ଼ିଲି । ରେଖାଙ୍କିତ ପଦଟି କେଉଁ କ୍ରିୟାର ଉଦାହରଣ ?



(A) ଦ୍ୱି କର୍ମକ କ୍ରିୟା


(B) ସମାପିକା କ୍ରିୟା
(Chosen option) 

(C) ସକର୍ମକ କ୍ରିୟା 

(D) ଅସମାପିକା କ୍ରିୟା (Correct Answer)



Question No.20 Marks: 1.00
Bookmark
     

'ବାଟ ଭାଙ୍ଗିବା'- ରୂ ଢ଼ିଟିର କେଉଁ ଅର୍ଥ ଠିକ ?



(A) ଭଙ୍ଗା ରାସ୍ତାକୁ  ସଜାଡ଼ିବା


(B) ରାସ୍ତା ଭାଙ୍ଗିଦେବା


(C) ବାଟ ଭଙ୍ଗା କଥା କହିବା


(D) ଉପେକ୍ଷା କରିବା
(Correct Answer) (Chosen option) 



Question No.21 Marks: 1.00
Bookmark
     

‘ସମ୍ୟକ୍‌’ ଶବ୍ଦର ସଠିକ୍ ଅର୍ଥଟି ବାଛ ।



(A) ସଂକ୍ଷେପରେ


(B) ପୂର୍ଣ୍ଣରୂ ପେ
(Correct Answer) (Chosen option) 



(C) ଅଳ୍ପରେ


(D) ଆଂଶିକରେ


Question No.22 Marks: 1.00
Bookmark
     

ବଜାରରେ ଜୀଅନ୍ତା ମାଛ ମିଳୁଛି । ରେଖାଙ୍କିତ ପଦଟି କି ପ୍ରକାର ବିଶେଷଣ?



(A) ଗୁଣବାଚକ ବିଶେଷଣ


(B) ଅବସ୍ଥାବାଚକ ବିଶେଷଣ
(Chosen option) 



(C) କ୍ରିୟାବିଶେଷଣ


(D) କ୍ରିୟାଜ ବିଶେଷଣ
(Correct Answer)



Question No.23 Marks: 1.00
Bookmark
     

‘ପାବନି’ ଶବ୍ଦର ଅର୍ଥ ଲେଖ ।



(A) ପବନ ପୁତ୍ର
(Correct Answer) (Chosen option) 



(B) ପିଇବା ପାଣି
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(C) ପବିତ୍ରକାରଣୀ


(D) ପୃଥିବୀ ସୁତା


Question No.24 Marks: 1.00
Bookmark
     

‘କେନାଲ୍‌’ ଶବ୍ଦଟି କେଉଁ ପ୍ରକାର ଶବ୍ଦ?



(A) ଦେଶଜ
(Chosen option) 



(B) ବୈଦେଶିକ
(Correct Answer)



(C) ତତ୍‌ସମ


(D) ତଦ୍ଭବ


Question No.25 Marks: 1.00
Bookmark
     

ବନାନ ଠିକ୍ ଥିବା ଶବ୍ଦଟିକୁ  ବାଛ ।



(A) ଜନବାହନ


(B) ଯନବାହାନ


(C) ଯାନବାହାନ
(Chosen option) 



(D) ଯାନବାହନ
(Correct Answer)



General Studies - General Studies

Question No.1 Marks: 1.00
Bookmark
     

Who was the Viceroy of India when the Indian National Congress was formed in 1885?

(A) Viceroy Mountbattern


(B) Viceroy Curzon
(Chosen option) 

(C) Viceroy Dufferin
(Correct Answer)


(D) Viceroy Lytton


Question No.2 Marks: 1.00
Bookmark
     

A man walked 5km North, then 4km towards East and took a right turn and walked 5km,
then turned right and walked 4km. Finally, he walked 7km towards South. How far and in
what direction is the starting point from the ending point? 


(A) 7km, South

(B) 7km, North
(Correct Answer) (Chosen option) 


(C) 5km, North

(D) 5km, East


Question No.3 Marks: 1.00
Bookmark
     

The National Human Rights Commission is a _______ body.

(A) Executive


(B) Law Enacting
(Chosen option) 

(C) Statutory
(Correct Answer)
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(D) Constitutional


Question No.4 Marks: 1.00
Bookmark
     

Kanchenjunga biosphere reserve is located in which of the following Indian States?

(A) Meghalaya


(B) Sikkim
(Correct Answer) (Chosen option) 

(C) Uttarakhand


(D) Arunachal Pradesh


Question No.5 Marks: 1.00
Bookmark
     

What is 20% of 30% of 40% of 50% of 3600?

(A) 45.2


(B) 47.2

(C) 41.2

(D) 43.2
(Correct Answer) (Chosen option) 




Question No.6 Marks: 1.00
Bookmark
     

Who among the following was the ambassador of Seleucus Nicator?
(A) Marco Polo

(B) Ibn Batuta

(C) Megasthenes
(Correct Answer) (Chosen option) 


(D) Huien Tsang


Question No.7 Marks: 1.00
Bookmark
     

Read the given details carefully and answer the question given below

A+B means A is the sister of B

A-B means A is the brother of B

A*B means A is the father of B


A/B means A is the mother of B



In the relation P/Q-R+S/T, how is R related to T?

(A) Maternal Aunt
(Correct Answer)


(B) Paternal Grandfather

(C) Paternal Grandmother

(D) Maternal Grandfather


Question No.8 Marks: 1.00
Bookmark
     

Which of the following Mauryan Kings was converted to Jainism?

(A) Kanishka (Chosen option) 


(B) Ashoka

(C) Harsha
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(D) Chandragupta Maurya
(Correct Answer)

Question No.9 Marks: 1.00
Bookmark
     

In a certain code language, if HUSBAND is coded as EOBCTVI, then how is MONSTER
coded in that language?


(A) SFUTOPN
(Correct Answer) (Chosen option) 

(B) SFUROPM


(C) NNORUDS

(D) NPOUWHU


Question No.10 Marks: 1.00
Bookmark
     

Find the highest length which can be used to exactly measure the lengths 44 m, 66 m, 88
m and 110 m.


(A) 22
(Correct Answer) (Chosen option) 

(B) 28


(C) 26

(D) 24


Question No.11 Marks: 1.00
Bookmark
     

Solve for x:

√x × 123 = (24120-22767)×11


(A) 14645

(B) 14650

(C) 14641
(Correct Answer)


(D) 14640


Question No.12 Marks: 1.00
Bookmark
     

Find the next number in the series.

242, 243, 196, 125, 54, ?


(A) 7
(Correct Answer)

(B) 10


(C) 8

(D) 9


Question No.13 Marks: 1.00
Bookmark
     

A train traveling at 136 km/h completely crosses another train which is half its length
and traveling in the opposite direction at 44 km/h in 6 s. If it also passes a railway
platform in 45 s, then find the length of the platform. (In m)


(A) 1600

(B) 1500
(Correct Answer) (Chosen option) 


(C) 1700

(D) 1800
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Question No.14 Marks: 1.00
Bookmark
     

Who among the following has been recently appointed as the Chairman and Chief
Executive Officer of Railway Board?


(A) S. Somanath

(B) Sanjay Chander 
(C) V.K. Tripathi
(Correct Answer) (Chosen option) 


(D) G. Asok Kumar


Question No.15 Marks: 1.00
Bookmark
     

A box containing the denominations of fifty paise coins, two rupee coins and ten rupee
coins amount to Rs.1875. There are equal number of coins in all denominations. Find
the total number of ten rupee coins in the box.


(A) 170

(B) 150
(Correct Answer)


(C) 180
(Chosen option) 

(D) 140


Question No.16 Marks: 1.00
Bookmark
     

Who among the following is regarded as the originator of Odia literature?

(A) Bhima Bhoi 

(B) Sarala Das
(Correct Answer)

(C) Balarama Dasa (Chosen option) 


(D) Upendra Bhanja


Question No.17 Marks: 1.00
Bookmark
     

Where was the Appiko Movement started in India?

(A) Uttar Pradesh


(B) Madhya Pradesh

(C) Karnataka
(Correct Answer)


(D) Bihar


Question No.18 Marks: 1.00
Bookmark
     

A man facing in West direction turns 45 degrees clockwise, then turns 360 degrees anti-
clockwise and then turns 45 degrees in clockwise direction. Which direction is he facing
now?


(A) South-West
(Chosen option) 

(B) West


(C) North
(Correct Answer)

(D) North-West


Question No.19 Marks: 1.00
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Bookmark
     
Krittivasa Kataka is identified with which of following cities of Odisha?


(A) Sonepur
(Chosen option) 

(B) Ganjam


(C) Bhubaneswar
(Correct Answer)

(D) Jajpur


Question No.20 Marks: 1.00
Bookmark
     

In this question, a statement is given followed by two conclusions numbered i and ii.
You have to assume everything in the statement to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statement.


Statement: The temperature in Ooty this year has come down to 0 degree.

Conclusion:


i) Ooty is colder than any other hill stations in Tamil Nadu.

ii) Ooty has recorded such a low temperature for the first time in last 2 decades.



Choose the appropriate one from the following options


(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows


(D) Neither i nor ii follows 

(E) Both i and ii follow.


(A) D
(Correct Answer) (Chosen option) 

(B) B


(C) C

(D) A


Question No.21 Marks: 1.00
Bookmark
     

What is the normal "term of Office" of the Municipalities?

(A) 4 Years


(B) 4 years 6 Months

(C) 6 Years

(D) 5 years
(Correct Answer) (Chosen option) 




Question No.22 Marks: 1.00
Bookmark
     

Sikkim has how many seat(s) in the Lok Sabha?

(A) 4


(B) 1
(Correct Answer)

(C) 3


(D) 2


Question No.23 Marks: 1.00
Bookmark
     

In which year, the Soil Health card scheme was launched by Government of India?

(A) 2015
(Correct Answer)
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(B) 2016
(Chosen option) 
(C) 2014

(D) 2013


Question No.24 Marks: 1.00
Bookmark
     

Find the units digit of the product 127 × 137 × 413 × 291 × 342 × 533 × 342.

(A) 10


(B) 8

(C) 4
(Correct Answer) (Chosen option) 


(D) 6


Question No.25 Marks: 1.00
Bookmark
     

What is the rank of Odisha in terms of population as per 2011 census?

(A) Eight


(B) Eleven
(Correct Answer) (Chosen option) 
(C) Fourteen

(D) Nine


Question No.26 Marks: 1.00
Bookmark
     

In January 2022, where was India’s First ‘Open Rock Museum’ inaugurated?

(A) Jabalpur


(B) Hyderabad
(Correct Answer) (Chosen option) 

(C) Jaisalmer


(D) Bengaluru


Question No.27 Marks: 1.00
Bookmark
     

Which of the following parts of the Indian Constitution directs the citizens to safeguard
public property and to abjure violence?


(A) Fundamental Rights
(Chosen option) 

(B) Fundamental Duties
(Correct Answer)

(C) Directive Principles of State Policy


(D) Preamble


Question No.28 Marks: 1.00
Bookmark
     

Find the next term in the given series.

A36, F41, K46, P51, ?


(A) V55

(B) U56
(Correct Answer) (Chosen option) 


(C) V57

(D) W55
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Question No.29 Marks: 1.00
Bookmark
     

All Kisan Credit Card(KCC) holders up to the age of _____ years are covered under PAIS
with a risk coverage of Rs. 50,000/-for death due to accident.


(A) 60
(Chosen option) 

(B) 65


(C) 68

(D) 70
(Correct Answer)




Question No.30 Marks: 1.00
Bookmark
     

What type of pollution is "photochemical smog"?

(A) Air Pollution
(Correct Answer) (Chosen option) 


(B) Noise Pollution

(C) Radioactive Pollution

(D) Groundwater pollution


Question No.31 Marks: 1.00
Bookmark
     

Where was the headquarters of the theosophical Society established in British India?

(A) Bombay (Chosen option) 


(B) Calcutta

(C) Surat

(D) Madras
(Correct Answer)




Question No.32 Marks: 1.00
Bookmark
     

The River Sutlej enters India through which of the following Passes?

(A) Zoji La Pass
(Chosen option) 


(B) Banihal Pass

(C) Shipki La Pass
(Correct Answer)


(D) Razdan Pass


Question No.33 Marks: 1.00
Bookmark
     

According to the Odisha State Disaster Management Authority, which of the following
districts of Odisha falls under a very high-Risk Zone for drought?	
(A) Ganjam
(Chosen option) 


(B) Puri

(C) Balasore

(D) Kalahandi
(Correct Answer)




Question No.34 Marks: 1.00
Bookmark
     

What is the Greek term for the word "Democracy"?

(A) Demokratia
(Correct Answer)
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(B) Democracia
(Chosen option) 
(C) Demostracia

(D) Democracomos


Question No.35 Marks: 1.00
Bookmark
     

The United Nations Conference on Environment and Development (UNCED), also known
as the 'Earth Summit', was held from 3-14 June 1992 in which of the following Cities?


(A) Beijing

(B) Rio de Janeiro
(Correct Answer) (Chosen option) 


(C) Tokyo

(D) Glasgow


Question No.36 Marks: 1.00
Bookmark
     

What is the minimum age required to become the 'President of India'?

(A) 35 years
(Correct Answer) (Chosen option) 


(B) 30 years

(C) 25 years

(D) 40 years


Question No.37 Marks: 1.00
Bookmark
     

What is the theme of the International Day of Education 2022?

(A) Changing Course, Transforming Education
(Correct Answer)


(B) Recover and Revitalize Education for the COVID-19 Generation

(C) Education: A Key Driver for Inclusion and Empowerment
(Chosen option) 


(D) Learning for people, planet, prosperity and peace


Question No.38 Marks: 1.00
Bookmark
     

In which of the following temples, the Magha Saptami Festival is observed in Odisha?

(A) Jagannath Temple, Puri
(Chosen option) 


(B) Sun Temple, Konark
(Correct Answer)

(C) Rajarani Temple, Bhubaneswar


(D) Lingaraja Temple, Bhubaneswar


Question No.39 Marks: 1.00
Bookmark
     

Who was the first European explorer to reach India by Sea route?

(A) Amerigo Vespucci


(B) Bartholomew Diaz
(Chosen option) 

(C) Vasco da Gama
(Correct Answer)


(D) Christopher Columbus


Question No.40 Marks: 1.00
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Bookmark
     
Find the fraction of 0.4686868


(A) 462/990
(Chosen option) 

(B) 463/990


(C) 465/990

(D) 464/990
(Correct Answer)




Question No.41 Marks: 1.00
Bookmark
     

Which of the following writs in the Indian Constitution literally means "we command"?

(A) Certiorari


(B) Habeas Corpus

(C) Quo Warranto

(D) Mandamus (Correct Answer) (Chosen option) 




Question No.42 Marks: 1.00
Bookmark
     

The Vaital Deula Temple in Bhubaneswar is dedicated to:

(A) Lord Buddha


(B) Goddess Chamunda
(Correct Answer) (Chosen option) 

(C) Lord Shiva


(D) Lord Vishnu


Question No.43 Marks: 1.00
Bookmark
     

If the average marks of three classes of 65, 70 and 75 students are 65, 70, 75
respectively, find the average marks of all the students. (approximately)


(A) 72.238

(B) 71.238

(C) 73.238

(D) 70.238
(Correct Answer) (Chosen option) 




Question No.44 Marks: 1.00
Bookmark
     

In which year, was Odisha Mining Corporation Limited set up to explore and harness the
mineral wealth of Odisha?


(A) 1946

(B) 1976

(C) 1966

(D) 1956
(Correct Answer)




Question No.45 Marks: 1.00
Bookmark
     

How many members are there in the State Human Rights Commission including the
chairman?


(A) 5 members

(B) 4 members
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(C) 3 members
(Correct Answer)

(D) 2 members


Question No.46 Marks: 1.00
Bookmark
     

Find the next number in the series.

1576, 1428, 1206, 910, 540, ?

(A) 96
(Correct Answer) (Chosen option) 

(B) 98


(C) 100

(D) 94


Question No.47 Marks: 1.00
Bookmark
     

Rs.1066 is divided among 2 men, 6 women and 8 boys such that the shares of a man, a
woman and a boy are in the ratio of 3: 2: 1. Then, how much does a man get? (In Rs.)


(A) 123
(Correct Answer) (Chosen option) 

(B) 121


(C) 119

(D) 120


Question No.48 Marks: 1.00
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If a bus travels from city A to city B with a speed of 387 kmph and another bus travels
from city B to city A with a speed of 297 kmph, find the relative speed when both the
buses cross each other. (In m/s)


(A) 190
(Correct Answer) (Chosen option) 

(B) 188


(C) 184

(D) 186


Question No.49 Marks: 1.00
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Pipe A can fill a tank in 699 minutes and Pipe B can fill the same tank in 1398 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?


(A) 467

(B) 468

(C) 466
(Correct Answer)


(D) 465


Question No.50 Marks: 1.00
Bookmark
     

An article sold at the rate of Rs.18122 earned a profit of 21% more than that of the loss
incurred when the same article was sold at the rate of Rs.9061. Find the Cost price of
the article.(In Rs.)


(A) 13161
(Correct Answer)

(B) 13164
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(C) 13163

(D) 13162
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